Name Date Hour
Review — Chemistry Final Exam

1) Arrange Li, Sn, Cl, Bi by increasing atomic radius (smallest to largest). Explain how you

made your decision. B of Shells tacr—eos &> =
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2) Arrange Al, Si, P, S by increasing atomic ra?lius (smallest to largest). Explain how you
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3) Describe the octet rule. ) , -~
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4) Describe VSEPR. .
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5) How do you decide whether or not a bond is polar? e s
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6) Describe the difference between ionic bonds and covalent bonds.
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7) What type of bonding (ionic or covalent) occurs in each of the following?
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8) Assuming all other conditions are held constant, what happens to the volume of a gas as
pressure increases? PV, = FaVa (invers<)
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9) Assuming all other conditions are held constant, what happens to the volume of a gas as the
number of moles increases? Vi Vs ( o +3
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10) Assuming all other conditions are held constant, what happens to the volume of a gas as
the temperature increases? Vi o Vs - ‘{)

|77 V7 T TS

11) Assuming all other conditions are held constant, what happens to the pressure of a gas as
the temperature increases? 7, Pa

-

T, To

12@0r F Gases are compressible. Explain. w5 Gre Re
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13) @or F Gases have low density. Explain. |
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14) @or F Gases expand to fill a container. Explain. -
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15) Explain each of the following in terms of beginning state (solid, liquid, gas) and ending
state.
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16) Why do we put salt on our roads in the winter? Use colligative properties to explain.
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17) What is another name for average kinetic energy?
"T'ém % Eratere.

18) What is the difference between the graph of an endothermic reaction and an exothermic
reaction? Draw pictures to help explain.

Eros — Gonm ShEBY EXo — lens =aemyy

e * P rosducis hav< - Fr-odu_..c‘f:s Ihawse

E 4 rrore & ey E':- 8 les> T
) 2 @ 5
“Them T e e /‘f—]"\‘h T ac B~

19) What is produced when you mix the following acids and bases?
a. HCl + KOH> K<l + Hp®

b. HBr + LioH> L&~ + Hae

c. H,;SO, +aNaQH> Magy 5oy + 2FS7

20) Use the given information to determine if the solution is acidic, basic or neutral.
a. pH=2 AciA c.pOH=7 MIc=Tral

b. pOH=12 pH = 2 Aerdl d.pH=8 Pase
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21)I£f 756 'mL of hydrogen are collected at a pressure of 855 n'lbar, what volume will the gas

occupy if the pressure were changed to 760 mbar? PVz ~RT
P ’ V { = F > U = Pa

(fﬁﬁrﬁb@r\(?‘j&,mL) = (3o Mb‘f}(""?\ ’ Va-: TS0 L l

"3« I g{.ﬂ Mb‘f
L I

v, T i 233,15 = CI2USKk
22) If a sample of gas occupies 5.7 L at 340 degrees C, what will its volume be at
32 degrees C if the pressure does not change? Y3
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23) Determine the volume of a gas occupied by 0. 759 moles at 24 degrees C and at a pressure

of 0.923 atm. (R 00821220 atm} PV= nRT  _ ~&T
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24) Calculate the mass of KBr in a 7.00% solution that has a mass of 956 g.
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25) Calculate the mass of LiOH in a 20.00% solution that has a mass of 450 g.
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26) Calculate the molarity of a 55 L solution that contains 459 g Al,(CO;,),.
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27) Calculate the molarity of a 750 mL solution that contains 260 g CaCl, .
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28) What volumg ofal.l5M: 15 M stock solution of potassium nltrate is needed to make 0.75 L of
0.578 M potasswm mtrate‘?
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29) If 55 0 mL of a 2. 45 M stock solution of sucrose is diluted with water to make 168 L of
sucrose solution, what is the molarlty of the final solution?
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30) Josephine’s lab results showed that it required 32.5 mL of a 0.04 M KOH to neutralize
58.0 mL of HBr. Calculate the concentration of HBr. —> peey Hese
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31) Christopher’s lab results showed that it required 67.0 'ml of a 0.50 M NaOH to neutralize
32.5 mL of H,SO,. Calculate the concentration of H,SO,. — m« H5>=y i
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32) Calculate the pH of a 3.45x107* M HCL.
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33) Calculate the pOH of a 5.67x107 M H,SO,. —
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34) Calculate the pOH of 0.65 M KOH.
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35) Calculate the pH of a 4.0x10™ M Ca(QH), .
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36) Determine the molarity of HCI with a pH of 1.82.

(] = &% - )'o,c.mM Hel

37) Determine the molarity of NaOH with a pOH of 13.5.
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38) If the pH of a H,SO, solution is 2.45, what is the [ H* |?
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39) If the pOH of a NaOH solution is 13.2, what is the [ OH™ |?
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40) Determine the oxidation state of each element in the following molecules or ions.

+ rb-2 , +5 -2
2. H,S0, c. PO,
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b. Al(OH), d. AsO,
41) Balance the following redox reaction in an acidic solution.
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